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MECE-003 : ACTUARIAL ECONOMICS : THEORY
AND PRACTICE

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as per

instructions given under each Section.

Section—A

Note : Answer any two questions. 2x20=40

1. Distinguish between single period binary model
and the multi-period binary model. How do you
formulate a binary model ? Describe the

method of determination of right price. 20

2. Compare the classical credibility with
Biihlmann credibility. Which of these two
approaches is better for credibility analysis ?

Why ? 20
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3. What are the main functions of reinsurance ?
Explain the meaning of proportional and non-

proportional reinsurance. 20

4. Discuss the reserving concept in insurance.
How 1s deterministic chain-ladder model
different from stochastic chain-ladder model ?

Discuss how negative binomial model can be

presented as a normal model. 20
Section—B

Note : Answer any five questions. 5x12=60

5. State and prove Chebyshev’s Inequality. 12

6. What do you understand by : 12

(a) Stationary increment
(b) Markov process
(c) Martingale

7. What is Stochastic interest rate ? Discuss any

one of the important stochastic interest rate

models. 12

8. How 1s collective risk model different from

individual risk model in life insurance ? 12



9.

10.

11.

12.
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What is the difference between single payment
and multiple payment cases in reinsurance

pricing ? 12

Distinguish between unearned premium and

unexpired risk reserve. 12

What aspects of insurance industry need to be

regulated ? 12

Write short notes on any two of the following :
12

(a) Compound Poisson process

(b) Life annuity

(c) Excess loss reinsurance
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